* Algebra | Unit 6 Appications of Linear Funclions Mofes & Practice

Day 2 - Real World Y-Intercepts — Notes

(‘ * areal world situation, the y-intercept represents the starting value or starting point. Determine the y-intercept
', the following table:
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B. The graph below shows Colby's saving account over time. Explain what the y-intercept means in context of‘
the graph. §
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C. Alberto is saving for a new video game. After adding two weeks of his allowance to a savings account, he
has $105. After adding three more weeks of his allowance, his savings is now at $150. Determine the y-
intercept and e>8Iain what the y-intercept means in terms of the problem.

»\5

' 90 715 50-105 4% _%
I8 widdea $\056 ’ | 05_3 =8 ok s
3 ‘”202“5
Y %35 y1s
5 wasks 3150 |

N T
' 15

Scanned with CamScanner




